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H/w Q. Which of the following 1s used as non-stick coating for cooking utensils?

Cll S T ST | A TaRad | 9 o1 A-1&2eh Shile o foTu J=T foram S @ 2

S.S.C. AR HTde il (T-1) 10 T&dsw, 2016 (11-9Te)

— ay s

==

/ (a) Perspex/ JHUFH
/ (b) Styrofoam / TR

/ (c) Polystyrene / T2

S %(di Teﬂo@




N D N N v N N
® QM1 S h ST H -1 shifeT o oI TI<h

7 e 2 I Uere T THAH (Teflon) AT & ST

SITdT 2| Irad § I8 A shu-] gRT o T ueh
(@ C ¢ (@
&2 JeHTeh AW 3| THRIH €9 § I8 9ard

Fefiee 93T Uferefi AT diefidT ®, St foh

N

I=o AU} k1 A-eeh Wﬁ;/

®* The substance used for non-stick coating in

cookware 1s known as Teflon. Actually 1t 1s a
registered trademark name given by Chimers
Company. Chemically, this material 1s a
polymer called polytetrafluoroethylene, which
1s a high grade non-sticky material.



Abhilasha Kumar 20 hours ago
Good evening sr
e ' GH  Repy

w 1 reply

Farooqui..... 6 hours ago
eflon

e 1 GF Reply

w 1 reply

Ravi Patel 21 hours ago
Dgs 25

51 G Reply

w 7=« 1 reply

RUBI KUMARI 21 hours ago
Homework Answer is option.D
Thank you Sir Jis o'a o's o's

0y CH Reply

-

- ““*5; « 1 reply

e

_31;

/
O
0

K

ajay makwana 16 hours ago

HW question - D teflon answer

51 GO Reply

.

A 4 :*'s; « 1reply

CHHAVI SAXENA 88 8 21 hours ago
Home work answer is option D... Teflon g s

5 CR  Reply

-

v :"s; « 1reply

Kumar Sachin 21 hours ago
Thank you Sir. Homework Answer is D

5 CJ  Reply

-

- "‘*'if: « 1reply

o

Surbhi Sinha 21 hours ago
Homework question answer - option dddd &Y

5 CR Reply

v ()1 reply

iy



Bipuf wisfara 21 hours ago
x HW. My ans. Teflon
G B Reny

- :“‘Er; « 1 reply

sandeep yadav 21 hours ago
. / eflon
5 GF Reply

- .;%;, « 1reply

m/ikra Yasmeen 17 hours ago
=V Option D

iy CH Reply

- '3%3’ « 1reply

anu sharma 19 hours ago
Option d
5 GP Repy

- :‘“@; « 1 reply

e

© o0 v ¢

anu sharma 19 hours ago
Option d

ry CJH Reply

- 'Z:T?f'&j_:? « 1 reply

Chitrasen Yadav 19 hours ago
D

5 GH  Reply

w (7=« 1reply
Abhilasha Kumar 20 hours ago
Tin

e ' G Repy

w 1 reply

Puspranjan singh 21 hours ago
Teflon

iy CH Reply

- '3:»"?%'_:3’ « 1 reply



SSC CHSL 2022-23

Q.1 Which of the following acid is found 1n milk?
_Aa H efetiad 9 | shi9-a1 31eet o ST 82 =
S.S.C. AT ohi@ddv\GD 19{!?{3\?[,@(11- qTedl)
)

_~(a) Hydrochloric acid/ 6|$6\|q°c'i\l [oh 3TFc
4b) Lactic acid/ciToeeh 30T

/ (c) Ascorbic acid/TEhilssh 3TFA

/ (d) Tannic acid/eTeh 3T




* T H Ao UfHg AT A i Sqﬁ:éﬁrﬂ@l

F A STFeh ST F H] BIdt 21 ﬁﬁ?ﬁ
T H Suited oIS |°hU0|-|
(Fermentatlon) Wé?ﬂ% e TRuTHEE &Y

AfFeeh 3T (Lactic acid) T EEIURSCIRIIN

®* The presence of lactic acid or lactate in
milk 1s mainly due to lactic bacteria. Lactic
bacteria ferment the lactose present in
milk, resulting in the formation of lactic
acid.
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Q.2 Kidney stones are composed of

VR T A AR —
S.S.C. 31 CHSL (T-I) 1 %A1, 2@(14@)

-
(a) ( Calcium Oxalate / YWT[ AT ;1d
(b) Sodium Chloride / @%’qﬂ FAR js
(¢) Magnesium Nitrate / = tei MR mséa

(d) Calcium Bicarbonate / ohlcfi’lql-l
G1|$°h|¢1|"|d




Urethra

Ureter

Bladder

- X
*HT H Tshted oM ATl UaTel S ohiovEd

HTaslcte, Ak TRHe HA1fQ shi 7 se ¥ 71 ol
(Kidney stones) S99 hl EWTaHT AT
Rt 81 T8 1 TeRt eI hiewrm sifesicie

et 2l Q7L
* Kidney stones are moré likely to form due to
increased amount of crystal forming

substances like calcium oxalate, uric acid etc.
in urine. Kidney stones are mainly made of

calcium oxalate.
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Q.3 Deficiency of Thiamine results in

I T T O BT 2 T
S.S.C. M@L (T-I) 16 37T, 20201 ( 11 |t

4

(a) Rickets /feheq
(b) Pellagra/ﬁ?ﬂiﬂ‘/
(c) Scurvy / Ehdi /

(d)||Beriberi|) ¥ _/
 Ofpone
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/\/"mamm) R off w3
@ faerfi B (Thlamln) EIETIE] IFIWW

S AT T 21 ST 2l sHoh FRY Ip 3T
FHS Heg® LAl & $6eh L] Hih, 2ad

@/ TS kT TohAT RIS 9 ST 2| dfet o
HHASIR TSl ol

o Thlamm 1s also called vitamin Bi.

Deficiency of Vitamin B1 (Thiamin) causes
a disease called Beri-Beri in humans. Due
to this the person feels very weak. Due to
this the functioning of the brain, heart etc.
The nervous system weakens.
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Q.4 Which of the following is indicated by the colour of a star?
AT 3T 0] HEATTRA H ToReeT §=e 87 (G

S.S.C. AT H1deh & (T-1) 8 s, 2016 (1-91eT)

(a) Weight /ElTrl:f\/
(b) Distance /Eﬁ / /
/ ©) lTemperatura/ GISCIE]

(d) ‘Size /s |/




o il %l 9dd {Morc‘.l-l HECE? Uﬁ?ﬂﬁﬂﬁﬂ?ﬂm%l

N o1 {7 Idd: 36 9 ol axidl 2

Hﬂﬁ%ﬁmﬁﬁw%q o et 9T O AR
STl Sedisia Bl 81 31 ﬁiﬂﬁfi@ﬁéﬁéltﬂﬁ

T T 7Y dR el ETs o

—

®* The continuous spectrum of stars determines

their colors. The color of a star actually reflects
its temperature. In the hottest stars, most of the
energy 1s emitted from the blue part of the
spectrum. Hence they appear blue. Whereas the
least hot stars appear red.
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Q.5 The laser which collects the rays 1s called ?

v I8 A SIT foRul Ueh T3 ShEdT 2, 39 G FHEd 82
S.S.C. AT LATH, 13 s 1_q1§ﬁ)

convex lens

/a) [aonverging /@'ﬁﬂ?@j

(b) Diverging /3T9ERT
(¢) Plano lens/®AHT <1 E //
(d) Meniscus lens ATEHY A
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* JINTERT (Convergmg) e TR @l
fehiedT 3799 Uehizld  ohid] % ElEan"
A (Diverging) LB ENFIERUIRE]

SeATdT 2

S
* A converging lens contracts or collects

the rays, whereas a diverging lens

spreads the light rays.
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Q.6 Which acid 1s present in tomato?

ZHTEL H hi=-HT 377 (TUHES) HISE BT 2 2 K//
S.S.C. AT ohi{%qm\GD 22 BTERT, 2019 |(11- TTeih)

(a) Tartaric acid/ dléi\{wﬁs

(b) Sulfenic acid/'HQbe/l(-\ioh
(c) Malic acid/ATcT Tfae
(d) (Oxalic acid/&iof@ﬁdohj@‘é

72
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@ﬂaﬁ H@qdm%'_ T U7 ST B 37
93 w@m@@mﬁwwﬁﬁw
/ ST 6] 91eqd H ST o Yok TX 39 foaTfid C

(TEhisieh 3TFeT) Rl OTAT 9 STl ©, Seih
AT TCToh STFCA shl T &g STl o

* Citric acid 1s mainly found in tomatoes and

oxalic acid 1s found 1n moderate amounts 1n
tomatoes. In fact, as tomatoes ripen, the
amount of vitamin C (ascorbic acid)
decreases, while the amount of oxalic acid
Increases.
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Q.7 Which of the following is NOT used to make toothpaste?
~ TIUEE S o 1A T 1 § ForershT STaT e R Sare? -

S.S.C. WGL (T-I) 13 wr{-@(wﬁ)

o
(a) Aluminium Oxide / TegHIHH

IATFIES

y (b)ZGalena/ﬁéqT
(¢) Silica / faTeTehT / /

(d) Limestone / AT Tl
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@_/° TIAUEE S ﬁ\wﬁlﬁaﬁ AT |s/s, ﬁ:ﬂ%ﬂ\/@r
/ yd FATIER (CaCO) T SYANT [T SITAT &, TAfhe
Qv

%

/msTﬁé ATHITE SO0 Y el BiT 2l
I8 TR o To9Th UaTed & N

O * Aluminum oxide, silica and liﬁéone (CaCO)

are used to make toothpaste, but galena (PbS)
S or lead sulfide 1s not used 1n it. It is a toxic

substance for the body.
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Q.8 Which of the following substances has the clos\est pH to zero?
/ﬁHRdegld 4 ¥ forgr uaTel o1 pH W@@ Tl i &7 CT

—— S.S.C. ST MTS (T-1) 20 3TTET, 2019 (I11-9Te)
—

— A A Vd‘NQ

@% T)H ’2—7 7/ (a) Concentrated H\ydrf)chloric Acid
- // (HCI)/ [T BTggieretlich 37 (HCT)|
N

(b) Pure w;ter/’{jlo_s\' gt !

(c) Baking soda/slTehTT |TET
I _ ’LI/T
N [ >7 EI(\I— / (d) Ammonia/THI=T




SSC CHSL 2022-23

* pH Thel ST 3TFA qAT &R ah! UE=HT STal gl pH T 7 ST (32T 5) ohl I<h
LA 81 7 ¥ FH A o pH dTcd 59 STRART 07 SA<h hLd 8| 3Ad: Hig BIgglerdlieh
3T T pH T ST 2 BT &, Si&lish pH A 14, €5 AISTH TESIFATES hT Bl
& SIfshTT |IST Al pH AT TRTT 8, STHIET T pH A T 11.6 TUT 6 ST 6l
pH | 7 BIdT 81 3Ad: ¥ & fob 1o U forshedt § Hel® 8 pH A (I o Ll ) Hig
BTSSRl eh 3T o7 &

®* Acids and bases are recognized by the pH scale. The pH value 7 represents
water (neutral fluid). Liquids with a pH of less than 7 show acidic properties.
Therefore, concentrated hydrochloric acid has a pH of about 2, while that of
concentrated sodium hydroxide i1s 14. Baking soda has a pH of about 8,
ammonia has a pH of about 11.6, and pure water has a pH of 7. So it is clear that
the lowest pH value (near zero) among the given options is that of concentrated
hydrochloric acid.
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Q.9 Sea water 1s a rich source of which of the following chemical elements?

= wdt st Feferaa # @ o TreTE e ded T Uk wg |id 2T R 2
S.S.C. JE HehiHehet wlieqf 22 Hr=, 2021 I UTeit)
Pe g ¢

:— /j — (a)L Bromine / W:l/

B I / (b)* Hydrogen Peroxide / B1g
Q[ ES

(¢) Cadmium / Sy

} (d) Hydrogen sulphide / ET3SISH
HUCDPIRS 4

>0y,

SE

i
N
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Q.10 Which of the following elements can be used to treat/purify water?
 Trefaiiaa © @ foper dcd =T STFNT T 3 IR / 1G0T oh FoTQ Foharm ST kel € 2

SSC. aﬁ:ﬂﬁ@s (Tm@m qrett)
// /

</
(a) Magnesium AR

(b) Lead/dTET / Vs

(c] Chlorine / FiHT ),

) Potassium/dTeRIEH
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* FARA (CI) Ueh UHT dcdl © S I d19_37
/@ T3E % w9 R A o 2 @ g
ohT T[0T UTIT_SITAT &l STl ahl [Eshidd
w%mwa@f@mmwélw

T SclfeT ISt [Ca(OC1)2] %t FEHEAT |
ERIESIEI Q
t

Chlorine (CI) is an eleme at occurs as a

gas at normal temperature and pressure and
/ has the property of rapid infectiousness. It 1s
used for chlorination to sterilize water. This
work 1s done with the help of bleaching
powder [Ca(OCl1)2].
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Q.11 Which of the following diseases 1s not water-borne?

_Aretafiad § & -9 W S-S T2 @ 2 7
S.S.C. aﬁan@Z)zo 3T, 2019 (I- TTeit)

/ (a) Hepatitis A/RUCTECH A

(b) Measles/@m@/
/ (¢) Cholera/%GIT /

/(d) Typhoid/ClS®HISS J
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C

[\’\//Jﬁmlmw Ty —

_ " +erR A, B9 UF TRHEE T A 3

" el % HROT Scd B It U &, Sfelfsh T
(Measles)@%ﬁljmmﬁﬁ% Fﬁﬁ"'ﬁ%:ﬂ%‘

AT & S Olen- ﬁ I"|°|'>Q’| -'v_‘f?f’:f ®|<a‘( T hh

Hepatitis A, cholera and typhoid are diseases
caused by infected or contaminated water,
while measles 1s a’viral disease)caused by

sneezing through the |patient's nose, mouth,

etc. spreads through.
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Q.12 Which of the following 1s the monomer for nucleic acid?

Painicn T Y [eheTeh 3TFeT B¢ UohoTeh hid & ? <0
—< CP.O.SL7 q I - Tt

(a) DNA/ SIUAT /
(b) RNA/3TAY

- © Nucleotide/’ﬁ@c’lq\ldlss )
/ (d) Phosphate/®The

/




o

/
ZT8E TSI AT Bld ©, ST =lfocish 3TFc

e é?ﬁﬂfwﬁgohvlohohwﬁohw oh{d%l@?:r
TreTieh aftled W 3 0] ATTERIE g SRELE
T S A 3 | Wﬁﬁ?ﬁﬁ&mﬁ T aeT ot
S |

® Nucleotides are organic molecules that act as

monomers 1n the formation of nucleic acids. In a
biochemical perspective, these molecules serve
to transmit genetic information. In addition, they
also form the structure of cells.
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Q.13 Which of the followmg 1s also called milk sugar?
B it & IJ-IQ'Oh IR ft T STl % ?

C.P.O. S.L 11 3, 2016 ( I- |reiT)

(a) Glucose/ Tc_flﬁTrf
(b) Maltose/HTeST

©) Fructose /SISl

/
// (d) Lactose@ﬁ%
a
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=\ N\ NO
* S i fiesh PR ot FET Sar @1 98 U
8138 _(Disaccharide) &, Sl NcidelSl T

Lol

ToTohTST § THeTeht & 21T 2l

—

® Lactose 1s also called milk sugar. It 1s a
disaccharide made up of galactose and

glucose.
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Q. 14 is called the '"Powerhouses' of the cell.

v HIITHT & He1l T8 FHEaTd gl (G\ s
S.S.C\3THeITET Hideh i (49 AT, 2020 \([-91efh)

~——

(a) Arteries/ G
(b)l Mitochondria/ATEieh1 I(:§®

/ / (c) Pituitary Glands/tﬁ'{\qﬁ

? (d) Lungs/ F%S
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o=
* qTglhil-gaT T liﬁl?m"ﬁm RN F

/ v STHTTE' el STl %l ISR FEGT & S
SO ST Sell I it el
=

®* Mitochondria or necroptosis 1s called the
'powerhouse of the cell'. Most of the energy
1s generated 1n 1t during cellular respiration.
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Q.15 Who discovered the smallpox vaccine?
AN N [aWaN (Y N o N O
/t{tloh o 2leh ohl WISl TohdH ohl 1?2 4 —<

S.S.C. HWE@(T-I) 12 1T, 2029(11-%#1)

C ol

%(a)" Edward Jenner / qs@

(b) Jonas Salk/SIFTH Hich

(¢) Louis Pasteur/?:l;sc RIESEN

(d) Leon Calmette/STI3TH shetHe



@//Tddoh T ToIIoL S Glﬁ?fﬁﬁ% 3ok dloh shl @ISl

/ \SOIS\:H{{1798 ﬁ?ﬁ?ﬂl y

®* Smallpox 1s a viral disease, its vaccine was
discovered by Edward Jenner in 1798 AD.
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Q.16 Which one of the following 1s a water soluble vitamin?
/E:Mf&f@d W ShIH-E1 ST H EA STl foreTi & 2 (G
S.S.C. AR H1edeh i (T-I) 7 Taasr, 2016 (I11- 9Te)

-

@ A ./

Py

e K

(d) D /
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* foeIH B 3R C ST | HoHeiier qor ot

CJ‘\/C”_‘?ZE& Q CJ/@ A, D, E T3 K 96T § ga=Ad

® Vitamins B and C are water soluble and
vitamins A, D, E and K are fat soluble.

€

AVT 7 ADE IC
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Q.17 The connective tissue that connects a muscle to a bone 1s

& a\ o NN N N N A D
ﬁﬁﬁ?ﬁﬁ I TSS! H SIS ATcA 3xceh ohl AT Hhed & ? (,(\5‘\")
S.S.C. HHAATEH HIdeh & (T-1) 4 s, 2016 ( 11- qreit)

—

- \/
€) Cartilage/?ﬂﬁ?l / 9 dd

(b) Ligament/cfTHe /

(d) Interstitial fluid/3TdLRTIIT S
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. ¢ A [N\ N\ a\ N
* HiEUlREl i BEeAT W Sed Ild Hdsh

~

ged(Tendon), STIh ss%ql I IR e 9T
QY Q) -

//eﬁ % HM T FﬂTﬂ'ﬁZ (ngament) Eh?ﬁ 2

e (Tendon) Teh 3T YT S G Fdeh g,
ST HIGU T %l aqﬁmﬁﬁsﬁw%l mﬂ WIER

JAT ST ik 6|c||%l

®* The tissue that connects muscles to bones is
called tendons, while the tissue that connects
bones to bones is called ligaments. Tendon 1s
another type of connective tissue that connects
muscles to bones. Tendon 1s a fibrous and
flexible tissue.
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Q.18 Fuse wire 1s made of an alloy of

(@ N NN A
ARyt AT o e AR 8 0 (O
SSC IS HHTdeh & (T-I) 6 s, 2016 (11 - 9Tcl)

(a) FF in and Leacﬂ faT 3R @_6’\/
/ (b) Tin and Copp\er/ﬁ_rf AR /

(¢) Lead and Copper/ TS SR dial /

(d) Copper and Silver / e 3R et
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Q.19 Which of the following metals is the most ductile metal?

/ﬁlﬂﬁﬁ@iﬁﬁﬁﬁ?ﬁ%ﬂﬂﬁ@ﬁ* I (AR GieH a7) 97q 27 ggj

S.S.C. 3‘|I"|Q’II$"I S IRE RS R (T- 1) 6G|:f 2

(a) Copper /diel

©)) Alumlmum/QFlW"/&RW

(¢)|Gold /&)
@) Tin/fe /

7
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* ST Gt UTq3AT H SATEI

1

teera (W) T

il *lwwwéaﬁtﬁﬁwﬁﬁw

Au) T8 ATUF a9 (Tensﬂe) %l 9T (Hg)
Mm (Na) @ WRfRmm (K) 9t &
Wﬁ?ﬂw TS T=IT o T | Ih el e % D}

AEE s

® Generally, malleability (soft) and ductile

properties are found in all metals and gold (Au) 1s

the most ductile among the given metals.

Mercury (Hg), sodium (Na) and potassium (K) do

not possess the malleable and ductile properties

of metals, being exceptions.
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Q.20 Incomplete combustion of fuels like petrol and diesel produces

)@Hweﬂwéﬁéﬁ%mﬁmﬁ U B 2
S.S.C. W@HSL\(TI) 15707, 2018 (I1- TTet)

(a) Carbon dioxide/®Te SrEaiaaTEe /

(b)(Carbon monoxidJ CACERAEICE
/ (c) Nitric oxideﬂT{@%@ HTFES v /

(d) Nitrogen dioxide/ATE2 SEHTFATEE
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* Ui, SISl Ug ShITAT TS S8 ohl oA 31V|or¢ﬂg«| hl

Suferfy & aaﬁrsqé; YU & | hleH 13|17|T31|orH|$s

/ ﬁﬁwr——r@?ﬁél s«léa—uﬁwétr((:)wsrm%l

STYUT e T e =il T ST 8, S o1&  CO (FHle
iﬂtﬁwomws) ST~ R ST &1 e fereres ﬁlir%l

* Fuels like petrol, diesel and coal in the presence of

Q,N ,va’—a" less oxygen 1.e. their incomplete combustion

& produces carbon monoxide gas. Carbon (C) 1is

found in these fuels. Carbon 1s left over from

1ncomplete combustion, which then produces CO
m«j\h (carbon monoxide). This 1s a toxic gas.

‘26% {SH[ (J
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Q.21 Plastic bottles are made of a polymer called PET. The expanded form of PET
is

_EATEEh ohl STdcd Ueh SIgeTeh shl Sl Bid &, TSI 52T hat STTaT 81 sl o | ’&\{«/‘\
I8 . S.8.C. ST CHSL (T-1) 24 S, 2017 (I1-97ef)

//(a) Polyethylene Terephthalate S HRIGE R [ST
(

b)‘Polyethyl Terelene RS ERI SRR

(\

(¢) Polyethylene Triphosphate / ATieTg e

(d) Polyethyl Tetrachloride / U1 NERIEN
v

7 THEhS

N
N
ce |°I'Q"II{I$S
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* UifeTgforetie 2eeicte U a1gd &t | ardie
AT (Thermoplastic) gl IT TIeTuEed
qiER T 8T (Resin) g, SN ochlr;ll-l I,
T i Al ATl I H JIH il
ST TEEH g7 (CH.O), 2

® Polyethylene terephthalate 1s a very
common thermoplastic. It 1s a resin of the
polyester family, which is used to make
synthetic fibres, plastic bottles, etc. Its
chemical formula 1s (CH.O).
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Q.22 Which of the following acids 1 NO present in grapes?

[ TRET H € shI9-81 37T (TES) TR+ tﬂ?lTEﬂ?lT%‘?
e S.S.C. AT <'|°h D (T 1) 5 9T, 2;5(20 (111- 9TeAT)

%
(a) Tartaric acid / eI 3T

(b) Acetic acid / THITCH 3TFT )

c) Cltrlc ac:1d/H|$|doh A

) Malic acid / Hfcteh 7%
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* ST H oIS YR o ehsil-eh T+ (/gamc acids)
WGH%% S9- JfcTeh 31F, 2Iefeh 377 H?JTHEI%BE
ST AT AR SR A T 3TFA AT T STt

2| THIeh oTret ooh e —]

arious types of organic acids are found 1n

grapes, such as malic acid, tartaric acid and citric
acid etc. But acetic acid 1s not found in grapes.
Acetic acid 1s found in vinegar.
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Q.23 Which of the following acids found in Apple ?
/@m T frefafad o @ i9-a1 ufee umen ST g 2

S.S.C. eI TTds T (T-1) 6 5, 2019 (I11-9TedT)

(a) Malic Acid/ OfeTes Tftrs
(b) Sulphuric Acid / Hcfwc\i\{oh TS
(c) Formic Acid / BitHeh TfErS

(d) Nitric Acid / T8l THS

RN
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* US T Wkehifsish 371 (fIeIfia C) Ud Afeteh 37
S HET H 91T ST &1 A SHT &1 hisii-eh 3TFd
(Organic acids) &l

® Ascorbic acid (Vitamin C) and malic acid are

found in abundance 1n apples. Both of these are
organic acids.



